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o3 A4 53,000 41,000 12,000
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01 A n) 5,000 5,000
o9+ 5,000
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01 A7-8&99H] 5,000 0 5,000
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OAAF 7R 1A <1
30,000 #505-#23] = 3,000
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O&a%Td A 2 AFw
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O+ 1,960
OTtAINE 193] FA
70,0009 #7™ #43] = 1,960
02 FFegH 10,000 11,800 A1,800
OFF8= 2 AA 10,000
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303 LA 900 0 900
01 47 900 0 900
O#ASATdH 100,000 *378 #33] = 900
305 ¥l E5 100,000 100,000 0
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O+ 3,220
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O+9T% 8,840
O uFas A4
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O G732 n A 340
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OTHUYFH dFF3
20,0009 107 %53] = 1,000
T3t edr ALY 20,000 0
TR o] YA A Y 20,000 0
AA 7ol AAPAE 2 20,000 0
201 QA uk--odH] 10,000 0
03 YA H]| 10,000
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301 AWkH A 10,000 0
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of 1] ] 4,756,379 A1,689,956
of| 1] H] 4,756,379 A1,689,956
801 of|u]H] 4,756,379 A1,689,956
01 ofH]y 4,756,379 A1,689,956
O] = 4,756,379
47N 44,695 1,367
22 gH] (718 AL 7,200 0
FFX11] 7,200 0

_10_




(91231 90)

AR R (EA) - 245 Aol i3a NEES:
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04 F-A-& 4,200 4,200
OF-A & 350,000 %12€ = 4,200
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W23 H] 6,895 10,208 ~3,313
201 gykgodn 6,895 10,208 ~3,313
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OYnk& 6,495
OFA & = 6,495
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o] Bl 30,600 25,920 4,680
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01 =ujodn] 30,600 25,920 4,680
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